NOTES: REV DESCRIPTION fmﬂ
1. DELETED. R| Ewcmmwer g% 3
ALL TORQUE TESTING MUST BE PERFORMED WITH A .038 / 0.97 MINIMUM THICK SPACER BETWEEN THE SCREW HEAD #6-32 UNC-2B THD.
AND TERMINAL BODY.
TORQUE REQUIREMENTS: THE THREADS OF BOTH THE POWER TERMINAL AND THE BRASS OR STEEL SCREW
SUPPLIED WILL WITHSTAND 8 IN.-LBS. MINIMUM OF TIGHTENING TORQUE WITHOUT DAMAGE, WHEN A
WASHER WITH A MINIMUM THICKNESS OF .038 / 0.97 (AS SUPPLIED) IS INSTALLED BETWEEN THE 410
SCREW HEAD AND THE POWER TERMINAL BODY. 10.41
NO PLATING ON EDGES SHOWN.
@ ANy
SCREW AND WASHER TO BE SHIPPED UNASSEMBLED IN A SEPARATE POLY BAG.
@ C-Press ® CONTACT PLATED THRU HOLE REQUIREMENTS PER DRAWING 27331. 540
7. WHEN NO WASHER / SPACER OR TERMINAL LUG IS INSTALLED, THE THREADS OF THE 13.72
POWER TERMINAL WILL WITHSTAND A MAXIMUM TIGHTENING TORQUE OF 6 IN.-LBS. _X-
SPECIFICATIONS . , 1 ~Z- ——
MATERIALS 2.'50 (273,
Insulator Nylon, UL 94V-0 Rated, 6.35 6.94
Color: Natural l J_ S—
A7 .01
Power Terminal Copper-Nickel-Tin Alloy, CDA 72500 45103 L |..___ _:
Finish: SEE CHART T
g 993 1N
S 2.37
° Screw (Not Shown) (SEE CHART) 76 P.CB. I_ % __I
§ Belleville Washer (Not Shown) —— Spring Steel (31 / 7.9 0.D. X .025 / 0.64 Thk.) 2.54 -
- TYp 047 +001 v
g Plain Washer (Not Shown)———— Brass, Cad Plated (21 / 5.3 Min. 0.D. X .038 / 0.97 Min. Thk.) '1.19 003 C SECTION ——
‘é_ PERFORMANCE CHARACTERISTICS % [&]6.020/051G[ Z [Y[X]
3 .
s Insulation resistance 5000 megohms min.
3 & 121-14204-1 SHOWN
g Current rating, 10 Pin 36 amp. @ 30°C rise
g (6]
2 Operating temperature range -55°C to +105°C A
5 perating temp g . ¢'1—Og§:OO§:PLATED THRU
=3 C—Press® Performance: ) ’ HOLE TYP
it [$]B 006/015®[ W]
3 e Maximum insertion force, 10 Pin 400 Ibs. max.
e}
@D
2 e Minimum retention force, 10 Pin 80 [bs. min. 1?)_012
N .
_é" e Number of repair cycles without hole
5 deformation or performance loss 3
(]
5 e (ontact to PTH electrical resistance — 2 milliohms max. )
o 1211420407 WITH #6-32 UNC-2A BRASS SCREW 107-42488 TIN LEAD 254
5% - - & NICKEL PLATED BRASS WASHER' (DRACON) (RoHS) P =
52« 121-14204-4 WITH #6-32 THREAD, T-15 TORX (R)/4* HEX HEAD AND -
s INTEGRAL WASHER. SOLDER PLATE. 107-42486 TIN LEAD P.C. BOARD HOLE PATTERN [121 SERIES
& 121-14204-3 WITH #6-32 UNC-2A BRASS SCREW & BELLVILLE WASHER (PRESS)
O UNLESS OTHERWISE SPECIFIED:
SO 121-14204-2 WITH 26-32 UNC-2A STEEL, NICKEL PLATED SCREW & PLAIN WASHER 10742503 107-42055 ] DIVENSIONS ARE N INGHES: o g/ @inchesterE lectronics
xe} OLERANCES
5 WITH #6-32 UNC-2A BRASS SCREW P L EAD FrEE st 005 /o 62 Barme Industial Road Noh
2 121-14204-01-260 #6- - : - ' i
:g' o & CAD PLATED BRASS WASHER' _RoHS) avaies « swe 41| _ Walingrt, Comeciut 06452
g ORACON, PURE TIN CUSTOMER (© ]| POWER TERMINAL WITH INSULATOR
£ 121-14204-00-260 | WITHOUT SCREW ieap rref  DRAWING 00 X 300 GRID - 10 PIN
8 ROHS)  [oram DATE|GHEGKED. ﬁ
S 12114204 TIN LEAD | \GATZURAS 08/20/83 12/13/83 —
- \PPROVED DATE |APPROVED DATE|
"(Q; CATALOG NQ DESCRIPTION INSERTION TOOL|REMOVAL TOOL|IMPACT HANDLE | PLATING [ JAD 12/14/83 C 14204 s ] ] R
—



